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10@5000(C T C)=50.000

58.000

3 & &k E = A = Ei
SHo3a #A
321.000 m * 2.500 m
> = 802500 802.500 m2
UAHZE E)
( 321.000 m / 0.250 m ) *= 2.000 A
Y = 2568.000 2568.000 ea
Sote XY EX 2 oAl
321.000 m * 2.500 m
> = 802500 802.500 m2
TiH A28t
69.818 ton = 1000.000
> = 69817.500 69817.500 kg
HII= ™Meldl
(( 0.150 m * 0.250 m * 2.500 m * 0.580 * 1000.000 )
* 1284.000 ea )/ 1000.000
> = 69.818 69.818 ton
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S22 EA
321.000 m * 2.000 b/
S = 642.000 642.000 m
HEE )
( 0.051 m2 * 0.005 t = 7850.000 = 644.000 A« 2.000 ea
+ 0.045 m2 * 0.005 t = 7850.000 = 644.000 A« 3.000 ea
)/ 1000.000
S = 5.991 5.991 ton
BHEE EN
644.000 B/ * 6.000 b/
S = 3864.000 3864.000 ea
OFM U2 A X & SHAl
321.000 m * 2.000 b/
S = 642.000 642.000 m
X A28t
0.150 m * 0.150 m * 2123.200 m * 0.580 = 1000.000
+ 0.100 m * 0.150 m = 1540.800 m * 0.580 = 1000.000
S = 41112.720 41112.720 kg
HIIZ2 Xelyl
5.991 ton + 41113 ton
S = 47.103 47.103 ton
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50@1.000(C.T.C)=50.000 8@1.000(C.T.C)=8.000
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MATCH LINE B-B'
2.500

3 ES & =1 = A = &
2Ly
200%100%4.5t 321.000 * 2.000 p/ ES
S = 642.000 642.000 m
( o B= ) 674.100 m
2Ly
75%75%3.2t 321.000 * 5.000 M+ 2.100 m 322.000 b/
> = 2281.200 2281.200 m
( o B= ) 2395.260 m
ALOIZ AtEt
129%19x1 .5t 321.000 / 0.150 m * 2.100 m
S = 4494.000 4494.000 m
( o B= ) 4718.700 m
ALOI3 &t
150%25%1 .5t 321.000 / 0.150 m * 2.100 m
S = 4494.000 4494.000 m
( o B= ) 4718.700 m
X ZLEAF
M4x20 8.000 = 2140.000 oA
> = 17120.000 17120.000 ea
( % 23 ) 17976.000 ea
BRACKET
246%162+200 321.000 / 2.000 m o+ 1.000 ) * 2.000 WA
> = 323.000 323.000 ea
( 9 s= ) 339.150 ea
B
W2,400%H1,400mm 1.000 + 1.000 p/ ES (WE ALEES)
S = 2.000 2.000 HA
SEE ME L EX
13549.410 + 16790.773 kg + 2137.317 kg / 1000.000
S = 32477 32.477 ton
o3 &x
321.000 * 2.100 m
S = 674.100 674.100 m2






